

Letting:

Florida Department of Transportation

09/20/2019

Page 1 of 1

Vendor Ranking

September 19, 2019 11:00 Call Order: 007 Contract: E1S87-R0

ΑM

01190919

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS SARASOTA Project(s): 43272817294 (*)

Contract Desc: North Port Mowing, Litter Removal & Edging in Sarasota Co.

| Ranl | v Vendor | Bid Type | Bid Status | Total Bid | Percent Of Low Bid |
|------|------------------------------|------------|-----------------|--------------|-----------------------|
| 1 | M & M CONTRACTORS, INC. | Responsive | Winning bid | \$17,850.85 | 100.00% |
| 2 | WALKERS SERVICE INC | Responsive | Non-Winning Bid | \$39,531.17 | 221.45% |
| 3 | RICK RICHARDS INC | Responsive | Non-Winning Bid | \$78,511.21 | 439.82% |
| 4 | MIDWESTERN CONSTRUCTION, INC | Responsive | Non-Winning Bid | \$114,744.30 | 642.79% |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Florida Department of Transportation

09/20/2019

Page 1 of 3

Tabulation of Bids

Letting: 01190919 September 19, 2019 **Call Order:** 007 **Contract:** E1S87-R0

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

SARASOTA

Project(s): 43272817294 (*)

Contract Descr: North Port Mowing, Litter Removal & Edging in Sarasota Co.

The work under this Contract consists of North Port Mowing, Litter Removal, and Edging in Sarasota County.

| Line No / Item ID Item Description | | Alternate | Quantity Units | (1) M & M CONTRACTORS, INC. | | (2) WALKERS SERVICE INC | | (3) RICK RICHARDS INC | |
|------------------------------------|-------------------------|-----------------------------|-------------------|--------------------------------|-------------|-------------------------|-------------|-----------------------|-------------|
| | • | bid as Lump Sum | O I III O | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| | SECTION | : 0001 | LARGE MACH | INE MOWING (AC |) | | | | |
| 0005 MOWIN MACHI | | (REGULAR/LAF | 328.500 RGE AC | 15.00000 | 4,927.50 | 52.00000 | 17,082.00 | 65.00000 | 21,352.50 |
| 0010 MOWIN | E104 4 2 NG (SLOPE) | | 14.600 AC | 75.00000 | 1,095.00 | 265.00000 | 3,869.00 | 150.00000 | 2,190.00 |
| 0015 MOWIN | E104 4 4 NG (INTERME | EDIATE MACHIN | 93.830 E) AC | 35.00000 | 3,284.05 | 63.00000 | 5,911.29 | 85.00000 | 7,975.55 |
| 0020 LITTER | E110 30 REMOVAL | | 436.930 AC | 10.00000 | 4,369.30 | 16.00000 | 6,990.88 | 12.00000 | 5,243.16 |
| 0025 EDGIN | E110 32 2 G | | 83.500 MI | 50.00000 | 4,175.00 | 68.00000 | 5,678.00 | 500.00000 | 41,750.00 |
| | | GE MACHINE S MOWING (AC) | ection Totals: | I | \$17,850.85 | | \$39,531.17 | | \$78,511.21 |
| | | Contract Co | rand Totals: | | \$17.850.85 | | \$39 531 17 | | 78 511 21 |



Florida Department of Transportation

09/20/2019

Tabulation of Bids

Page 2 of 3

| Letting: 01190919 | September 19, | 2019 Cal | II Order: 007 | | Contract: | E1S87-R0 | |
|--|-------------------|-------------------------------------|---------------|------------|------------|------------|------------|
| Line No / Item ID Alternate Item Description | Quantity Units | (4) MIDWESTERN CONSTRUCTION, INC | | | | | |
| () indicates item is bid as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 LARGE MACHINE MOWING (AC) | | | | | | | |
| 0005 E104 4 1 MOWING (REGULAR/LAF MACHINE) | 328.500 RGE AC | 125.00000 | 41,062.50 | | | | |
| 0010 E104 4 2 MOWING (SLOPE) | 14.600 AC | 250.00000 | 3,650.00 | | | | |
| 0015 E104 4 4 MOWING (INTERMEDIATE MACHIN | 93.830 E) AC | 200.00000 | 18,766.00 | | | | |
| 0020 E110 30 LITTER REMOVAL | 436.930 AC | 60.00000 | 26,215.80 | | | | |
| 0025 E110 32 2 EDGING | 83.500 MI | 300.00000 | 25,050.00 | | | | |
| 0001 LARGE MACHINE S MOWING (AC) | ection Totals: | ı | \$114,744.30 | | 1 | | |

Contract Grand Totals:

\$114,744.30



Florida Department of Transportation

09/20/2019

Tabulation of Bids

Page 3 of 3

Letting: 01190919

September 19, 2019

Call Order: 007

Contract:

E1S87-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.